

Theorem 2. $S(x)S(y) = S(x + y)$.

Proof First, as an example, consider $i = 47$, $j = 9$ and k between j and i of the form displayed, where a, b, c are bits (0 or 1) and a prime superscript indicates the complementary bit: $a' = 1 - a$.

integer	binary expansion					
i	1	0	1	1	1	1
j	0	0	1	0	0	1
$i - j$	1	0	0	1	1	0
k	a	0	1	b	c	1
$i - k$	a'	0	0	b'	c'	0
$k - j$	a	0	0	b	c	0

Here, $i - j$ is free of j . Also, k has 1s where j has 1s and 0s where i has 0s. And so $i - k$ is free of k and $k - j$ is free of j and these are the only such k . In the sum $\sum_{k=j}^i S(x)_{ik}S(y)_{kj}$ for the (i, j) entry of $S(x)S(y)$, k contributes $x^{a'+b'+c'}y^{a+b+c}$ and the sum over all bits a, b, c is $(x + y)^3$, the (i, j) entry of $S(x + y)$. This works in general, as we now demonstrate.

Suppose $i \geq j$. The (i, j) entry of $S(x)S(y)$ is $\sum_{k=j}^i S(x)_{ik}S(y)_{kj}$. For $0 \leq k \leq i$, if $i - k$ is free of k then both must have 0s in the positions where i has 0s. The bits of k in the positions where i has 1s are arbitrary, and then $i - k$ has the complementary bits in these positions. For example, with $i = 101111$ (in binary), k must have the binary form $a0bcde$ so that $i - k = a'0b'c'd'e'$. If, further, $k \geq j$ and $k - j$ is free of j then the bits of k are further restricted: they must be 1 in each position where j has a 1. In short, if $i - k$ is free of k and $k - j$ is free of j , then k must have 0s where i has 0s and 1s where j has 1s and is unrestricted where i has a 1 and j has a 0. In particular, the existence of $k \in [j, i]$ with $i - k$ free of k and $k - j$ free of j implies that i must have a 1 in each position where j has a 1 and hence $i - j$ is free of j . So, if $i - j$ is *not* free of j , then $(S(x)S(y))_{ij} = \sum_{k=j}^i 0 = 0 = S(x + y)_{ij}$. On the other hand, if $i - j$ is free of j , suppose there are $t \geq 0$ positions where i has a 1 and j has a 0 (and so $b(i - j) = t$). As above, the $k \in [j, i]$ for which $i - k$ is free of k and $k - j$ is free of j are unrestricted in

these positions and both $i - k$ and $k - j$ have 0s in all other positions. Hence

$$\begin{aligned}
(S(x)S(y))_{ij} &= \sum_{k=j}^i S(x)_{ik}S(y)_{kj} \\
&= \sum_{(i_1, \dots, i_t) \in \{0,1\}^t} x^{i_1 + \dots + i_t} y^{i'_1 + \dots + i'_t} \\
&= \sum_{m=0}^t \binom{t}{m} x^m y^{t-m} \\
&= (x + y)^t \\
&= S(x + y)_{ij}.
\end{aligned}$$

Induction yields

Corollary 3. For q a positive integer, $S(x)^q = S(qx)$.

Theorem 4. For rational r , $S^r = S(r)$.

Proof For $r = p/q$ with p, q positive integers, this follows from

$$S(p/q)^q \underset{\text{Cor. 3}}{=} S(p) \underset{\text{Cor. 3}}{=} S(1)^p = S^p.$$

For negative r , it now suffices to show that $S^{-1} = S(-1)$ and this follows from

$$S(-1)S = S(-1)S(1) \underset{\text{Thm. 2}}{=} S(0) = I.$$

Added in Proof. Roland Bacher informs me that he has obtained these results more simply by observing that the $2^k \times 2^k$ upper left submatrix of $S(x)$ is the k -fold Kronecker product of $\begin{pmatrix} 1 & 0 \\ x & 1 \end{pmatrix}$ [4, 5]. Emmanuel Ferrand treats similar material in an interesting recent paper [6].

References

- [1] MathWorld, [The Sierpinski Sieve](#) .
- [2] J.-P. Allouche and J. O. Shallit, [The Ubiquitous Prouhet-Thue-Morse Sequence](#) in C. Ding, T. Hellesest and H. Niederreiter, eds., Sequences and Their Applications: Proceedings of SETA '98, Springer-Verlag, 1999, pp. 1-16.

- [3] Ronald L. Graham, Donald E. Knuth, Oren Patashnik, *Concrete Mathematics* (2nd edition), Addison-Wesley, 1994.
- [4] Roland Bacher and Robin Chapman, Symmetric Pascal matrices modulo p , *European J. Combin.* **25** (2004), 459–473, <http://front.math.ucdavis.edu/math.NT/0212144> .
- [5] Roland Bacher, La suite de Thue-Morse et la catégorie **Rec**, *Comptes Rendues Acad. des Sci. Paris Ser I*, **342** (2006), 161–164.
- [6] Emmanuel Ferrand, An analogue of the Thue-Morse sequence, preprint, 2006, <http://www-fourier.ujf-grenoble.fr/~eferrand/ZTM.pdf> .